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SPECIMEN MATERIAL 

Mark schemes are prepared by the Lead Assessment Writer and considered, together with the 
relevant questions, by a panel of subject teachers. This mark scheme includes any amendments 
made at the standardisation events which all associates participate in and is the scheme which 
was used by them in this examination. The standardisation process ensures that the mark scheme 
covers the students’ responses to questions and that every associate understands and applies it in 
the same correct way.  As preparation for standardisation each associate analyses a number of 
students’ scripts. Alternative answers not already covered by the mark scheme are discussed and 
legislated for. If, after the standardisation process, associates encounter unusual answers which 
have not been raised they are required to refer these to the Lead Assessment Writer. 
 
It must be stressed that a mark scheme is a working document, in many cases further developed 
and expanded on the basis of students’ reactions to a particular paper. Assumptions about future 
mark schemes on the basis of one year’s document should be avoided; whilst the guiding 
principles of assessment remain constant, details will change, depending on the content of a 
particular examination paper. 
 
 
Further copies of this mark scheme are available from aqa.org.uk 
 
  

   

   
 



3 
 

SPECIMEN MATERIAL 

Section A   Listening 
 
Comprehension questions to be answered in target language but with no AO3 marks 
 
Where the natural answer to a question consists entirely or partly of words or phrases from the 
recording, students may use that material without rephrasing it. Minor spelling errors which do not 
distort the meaning will be tolerated. However, the AO1 mark will not be awarded for a response in 
which the student includes irrelevant material or inappropriate information from the stimulus, eg by 
‘lifting’ an element from the original which does not match the phrasing of the question set. 
 
 

Qu Accept Mark Notes 
01.1 B, E, G, I, K, L 6 in any order 

 
Qu Accept Mark Notes 
02.1 B 1  

 
Qu Accept Mark Notes 

02.2 A 1  
 

Qu Accept Mark Notes 
02.3 C 1  

 
Qu Accept Mark Notes 
02.4 A 1  

 
Qu Accept Mark Notes 

02.5 C 1  
 

Qu Accept Mark Notes 
02.6 B 1  

 
Qu Accept Mark Notes 
02.7 B 1  

 
Qu Accept Mark Notes 

02.8 B 1  
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Qu 
03 Key idea  Mark Notes 

03.1 • †jLvcov †kl Ki‡Z cvi‡e (1) 
• evev-gv Lywk n‡eb  (1) 2 

Accept: 
evev-g‡qi g‡b ỳtL w`‡Z 

Pvqwb  

03.2 (Any two) 
• †g‡q‡`i D”Pwkÿvi we‡ivax (1) 
• †g‡q‡`i evB‡i hvIqvq msKxY©Zv cÖKvk (1) 
• †g‡q‡`i PvKix Kivq/¯̂vaxbZvq AvcwË (1) 

 

2 

Accept: 
†g‡qiv N‡i †_‡K msmvi 

Ki‡e/mšÍvb cÖwZcvjb 

Ki‡e 

03.3 (Any two)  
• †mv‡n‡ji mv‡_ wkDjxi QvovQvwo n‡q †M‡jv (1) 
• †m Zvi †g‡q‡K wb‡q evev-gv‡qi Kv‡Q P‡j  

†M‡jv/†jLvcov †kl Ki‡jv (1) 
• PvKix wb‡jv (1) 

 

2 

Accept: 

wkDjx Zvi wb‡Ri gh©v`v 

†c‡jv 

03.4 (Any one)  
• wØZxq ¯̂vgx(wicb) Zvi e¨w³ ¯̂vaxbZvi KL‡bv  

n Í̄‡ÿc Ki‡e bv/ Zvi gZvgZ‡K ¸iæZ¡ †`‡e (1) 
• wØZxq ¯̂vgx Zvi †g‡q‡K Avcb K‡i †b‡e (1) 

  

1 

wkDjxi wbR¯̂Zv‡K mb¥vb 

Ki‡e 

03.5 (Any two)  
• ¯̂vgx- ¿̄x ỳR‡b Av‡jvPbv K‡i msmvi/ 

Kg©‡ÿ‡Î  

`vwqZ¡fvi †bq/G‡K Ab¨‡K mvnvh¨ K‡i (1) 
• Avw_©K m”QjZv/cvwievwiK ¯̂v”Q›`¨ (1) 
• †g‡qi Rb¨ wbf©i‡hvM¨ Avqv/ kvwšÍc~Y© Rxeb (1) 

  

2 
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Summary question   
 
 

Qu 04 Key idea Mark Notes 

Bullet 
1 

• c~e© Avk¦vm †`Iqv m‡Ë¡I wkÿv_©x‡`i 

Kv‡Q Li‡Pi cqmv †ewk PvIqv n‡”Q 

(†jLvcov I _vKv-LvIqvi LiP) (1) 
• wkÿv_©x‡`i Rb¨ (wek¦we`¨vjq 

cÖv½‡Y) mnRjf¨ wkÿv Kvh©µg 

Kwg‡q †`Iqv n‡”Q (1) 
 

2 

Accept: 
LvIqv-covi LiP evov‡bv n‡e 

BDwbfvwm©wU K¨v¤úv‡mi cov‡jLvi 

Kg©KvÐ 

 

Bullet 
2 

•  ag©NU cÖPv‡ii Rb¨ MYgva¨‡g weivU 

†NvlYv †`Iqv nq (1) 
• Abyl` feb¸‡jv‡Z †XvKvi Ici 

wb‡lavÁv 
         Rvix Kiv nq Ges wkÿv_©x‡`i‡K K¬v‡k                

      hvIqv/cixÿv †`Iqv †_‡K weiZ ivLv nq 

 (1) 
 

2 

Accept:  
wgwWqv‡Z 

`vjvb¸‡jv‡Z †XvKvi c_ eÜ Kiv 

nq 

Bullet 
3 

• mfv †W‡K (QvÎ) `jxq m`m¨‡`i 

gZvgZ †bIqv n‡e (1) 
• Ab¨ GKw`b ag©NU WvKvi K_v 

we‡ePbv/ w ’̄i Kiv n‡e (1) 
• mgvavb †ei Kivi Rb¨ DcvPv‡h©i 

Kv‡Q wjwLZ cÎ †`Iqv n‡e (1) 

3 

Accept: 
 

÷ªvBK 
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The marks for content (AO1) and language (AO3) are awarded independently. Long 
summaries will be marked for content (AO1) or language (AO3) only as far as the first natural 
break (usually the end of a sentence or main clause) between 90 and 100 words. Short 
summaries are not subject to an automatic penalty but in practice are unlikely to include all 
the required content points and will therefore be self-penalising. 
 
The AO1 mark is awarded for content points which contain the required information, regardless of 
whether those points are expressed in the student’s own words, or are partly or wholly lifted from 
the recording. However, no AO1 mark will be awarded for a content point where the student 
includes irrelevant material or inappropriate information from the stimulus, eg by ‘lifting’ an element 
from the original which does not match the phrasing of the bullet point.* ‘Lifted’ language will not be 
eligible for credit when the AO3 mark is awarded. 
 
 
*Generic example of ‘lifted’ language: 
 
1 
Text includes  Having finished her studies, she became a doctor. 
Summary task includes the bullet point  What she did before becoming a doctor 
Correct answer is  She studied 
Student writes in response to that bullet point Having finished her studies, she became a doctor 
No credit for AO1 because the response does not match the phrasing of the bullet point. (Also no 
credit for AO3 because of lifting.) 
 
2 
Text includes … because computers will replace teachers 
Summary task includes the bullet point Technological changes anticipated 
Correct answer is Computers will replace teachers or, to demonstrate successful manipulation, 
Teachers will be replaced by computers 
Student writes in response to that bullet point because computers will replace teachers 
No credit for AO1 because the response does not match the phrasing of the bullet point. (Also no 
credit for AO3 because of lifting). 
 
Minor errors are defined as those which do not affect communication. 
 
Serious errors are defined as those which adversely affect communication. 
 
Minor errors include: 
incorrect but close to correct spellings. 
 
Serious errors include: 
incorrect verb forms especially irregular forms incorrect use of pronouns. 
 
Complex language includes: 
use of pronouns of all types 
tenses that support conceptual complexity 
connectives supporting a range of subordinate clauses including those requiring subjunctive 
constructions with verbs and verbs followed by infinitive with correct preposition 
use of present and past participles. 
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Mark AO3 quality of language marks in the listening summary task 

5 
The language produced is mainly accurate with only occasional minor errors. The student 
shows a consistently secure grasp of grammar and is able to manipulate complex 
language accurately where required by the task. 

4 
The language produced is generally accurate, but there are some minor errors. The 
student shows a generally good grasp of grammar and is often able to manipulate 
complex language accurately where required by the task.  

3 
The language produced is reasonably accurate, but there are a few serious errors. The 
student shows a reasonable grasp of grammar and is sometimes able to manipulate 
complex language accurately where required by the task.  

2 
The language produced contains many errors. The student shows some grasp of 
grammar and is occasionally able to manipulate complex language accurately where 
required by the task.  

1 
The language produced contains many errors of a basic nature. The student shows little 
grasp of grammar and is rarely able to manipulate complex language accurately where 
required by the task. 

0 The student produces nothing worthy of credit. 

 
 
Indicative content   
 
Summary 1 84 words – AO3 5/5 

QvÎQvwÎ‡`i‡K Avk¦vm w`‡qI  †eZb I Ab¨vb¨ LiP AwZwi³ evwi‡q †`Iqv n‡e e‡j  mvsevw`K mgv‡e‡k 

†LvjvLywjfv‡e QvÎ wkÿK I wgwWqvi Dcw ’̄wZ‡Z ag©N‡Ui †Nvlbv †`Iqv nq| ZvQvov wkÿvw_©‡`i wkÿv 

Kg©KvÛ¸jv Kwg‡q †`Iqvi Avk¼vq wkÿvw_©iv GK`g Lywm bv| BDwbfvwm©wUi cÖavb feb¸‡jv‡Z Zvjv jvMv‡bv 

nq Ges me QvÎQvwÎ‡`i‡K K¬v‡m †R‡Z ev cwiÿv w`‡Z evav †`Iqv nq| KZ…cÿ hw` `vwe bv †g‡b †bq 

Zvn‡j QvÎ`‡ji mfv K‡i `‡ji †g¤̂vi‡`i gZ wb‡q Av‡iK w`b ag©NU  WvKv n‡e Ges BDwbfvwm©wUi 

DcvPv‡h©i Kv‡Q Gi mgv`vb †P‡q QvÎ`‡ji †jLv GKwU wPwV †`Iqv n‡e| 

 
 
 
Summary 2 82 words – AO3 4/5 

QvÎQvwÎ‡`i‡K Avkvm w`‡qI  †e_b I Ab¨vb¨ LiP evwi‡q †`Iqv n‡e e‡j  mvsevw`K mgv‡e‡m 

†LvjvLywjfv‡e QvÎ wk°K I wgwWqvi mvg‡b ag©N‡Ui †Nvlbv †`Iqv nq| ZvQvov wkÿvw_‡`i wkÿv 

Kg©KvÛ¸jv Kwg‡q †`Iqvi wQšÍvq wkÿvw_iv GK`g Lywm bv| BDwbfvwm©wUi cÖavb feb¸‡jv‡Z Zvjv jvMv‡bv 

nq Ges me QvÎQvwÎ‡`i K¬v‡m †R‡Z ev cwiÿv w`‡Z evav †`Iqv nq| KZ…cÿ hw` `vwe bv †g‡b †bq Zvn‡j 

QvÎ`‡ji mfv K‡i `‡ji †g¤̂vi‡`i gZ wb‡q Av‡iK w`b ag©NU  WvKv n‡e Ges BDwbfvwm©wUi DcvPv‡hi 

Kv‡Q Gi mgv`vb †P‡q QvÎ`‡ji †jLv wPwU †`Iqv n‡e| 
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Summary 3 74 words – AO3 3/5 

QvÎQvwÎ‡`i‡K Avkvm w`‡q  †e_b I Ab¨ LiP AwZwi³ evwi‡q †`Iqv n‡e e‡j  mvsevw`K mgv‡e‡m 

†LvjvLywjfv‡e QvÎ wk°K I wgwWqvi mvg‡b `gM‡Ui †Nvlbv †`Iqv nq| ZvQvov wkÿvw_‡`i wkÿv 

Kg©KvÛ¸jv Kwg‡q †`Iqvi wQšÍvq wkÿvw_iv GK`g Lywm bv| Bbevwm©wUi `vjvb _vjv †`q Ges me PvZi‡`i  

†Kjv‡m †R‡Z w`‡Z ev`v †`Iqv n‡eb| Rw` `vwe gv‡b bv ZvB‡j PvZiiv mev L‡i `‡ji †ggeî‡`i ej‡eb 

Avi Av‡iL w`b BmUvBL  WvKv n‡ei Avi Bbevwm©wUi DcvPv‡hi Kv‡P QvZi`‡ji GLUv wPwU †`Iqv n‡eb| 

 
 
Summary 4 59 words – AO3 2/5 

PvÎPvwÎ‡`i Avkv w`‡q †e_b I Ab¨ KiPv †ewm evwi‡q †`Iqv n‡eb| mfvi mvg‡b PvÎ wkLK I wgwWqv 

mvg‡b BmUvBK †Mvmbv †`qv n‡eb| ZvPviv PvZi‡`i wmKvi LvRMyjv Kwg‡q †`Iqvi wQšÍvq wkÿvw_iv GK`g 

Lywm bv|BbevwZwU †KI WyL‡Z cv‡i bv PvÎiv  †Kjv‡m †R‡Z cv‡ib bv| `vwe Rw` gv‡b bv _‡e Av‡iK w`b 

BmUvBK  n‡eb Avi mgv`vb †Q‡q PvÎi †jKv wPwU †`Iqv n‡eb| 

 

 
 
Summary 5 51 words – AO3 1/5 

PvÎ‡i Avkv w`‡q †e_b I KiPv †ewm evwi‡q †`Iqv n‡eb| mfvi mvg‡b PvÎ wkLK I wgwWqv mvg‡b BmUvBK 

†Mvmbv †`qv n‡eb| ZvPviv PvZi‡`i wmKvi LvRMyjv Kwg‡q †`Iqvi wQšÍvq PvZiiv Lywm bv| BbevwZwU †KI 

WL‡Z cv‡i bv| PvÎiv †Kjv‡m †R‡Z cv‡ib bv| `vwe Rw` gv‡b bv _‡e PvÎi †jKv wPwU †`Iqv n‡eb| 
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Section B  
 
Question 5  Translation (into target language)  
 
Guidance on level of accuracy in translations into the target language 
 
Errors of spelling 
Errors of spelling will not be tolerated. 
 
Tense endings, verb forms and adjective endings must be correct. 
 
Errors of gender 
Errors of pronouns and adjectives will not be tolerated. 
 
Alternative answers 
Alternative answers offered by the candidate – even if one is in brackets – will be rejected unless 
both answers are correct.  
 
A successful translation 
A successful translation is one which includes each element of the text to be translated and where 
there is no omission or paraphrase. 
 
Repeated errors 
Where a candidate repeats the same error within a question, no further penalty will be imposed in 
awarding the mark. 
 
 
 
Qu  

05 
The table below shows the type of answer that is acceptable for each section of the text.   
Award one tick per correct section then use the conversion grid to award a total of 10 marks. 

Box  Accept Reject 

1 We often see Avgiv cÖvqB †`wL gv‡Sgv‡S †`wL 

2 the footpaths  cv‡q Pjvi c_¸‡jv c_¸‡jv 

3 of big cities e‡ov e‡ov kn‡ii †Qv‡Uv kn‡ii 

4 filled  `Lj K‡i _v‡K|  a‡i _v‡K 

5 with street vendors. iv Í̄vi †dwiIqvjviv iv Í̄vi Mvwo‡Nvov 

6 These people  Gme †jvKRb   

 

7 run small stalls  †Qv‡UvLv‡Uv †`vKvb Pvjvq e¨emv Pvjvq 

8 and their income  Ges Zv‡`i Avq  e¨q 

9 is so low that G‡Zv Kg †h 
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10 they barely manage  Zviv Lye KgB cv‡i   

 

11 to provide  †RvMvb w`‡Z  

12 food and shelter Lvevi I evm ’̄v‡bi Kvco I wbivcËv 

13 for their families. Zv‡`i cwiev‡ii Rb¨|  eÜzi Rb¨ 

14 Most of them Gme †dwiIqvjv‡`i †ewkifvMB Aí msL¨KB 

15 migrated to cities from villages MÖvg †_‡K kn‡i P‡j G‡m‡Q| MÖv‡g P‡j †M‡Q 

16 when they lost  hLb Zviv nvwi‡q †d‡j 

 

17 their homes and land Zv‡`i Nievwo I RvqMv-Rwg KvR 

18 due to river erosion. b`xi fvO‡b eb¨v 

19 In the cities kni¸‡jv‡Z  GjvKv¸‡jv‡Z 

20 they cannot find  Zviv cvq bv|  

 

21 good jobs fv‡jv KvR fv‡jv Lvevi 

22 because they lack Afv‡e    

23 proper skills. `ÿZvi cqmvi 

24 So they open small stalls, Kv‡RB Zviv †Qv‡UvLv‡Uv †`vKvb †Lv‡j  †`vKvb eÜ K‡i 

25 sometimes with loans gv‡Sg‡a¨ Avw_©K mnvqZvq Avw_©K ỳie ’̄vq 

26 from charity organisations. †emiKvwi ms ’̄v¸‡jv †_‡K miKvwi ms ’̄v  

27 In order to clear the streets, iv Í̄vNvU cwi®‹vi Kivi D‡Ï‡k¨ iv Í̄vNvU  †givgZ  

28 government agencies evict them miKvwi †jvKRb G‡`i D‡”Q` K‡i  mwi‡q ‡`q 

29 and demolish their stalls, Ges G‡`i †`vKvbcvU †f‡½ †d‡j 
wRwbmcÎ †f‡½ 

†d‡j 

30 which makes them destitute. 
ZLb Giv wbt¯̂ I wbivcËvnxb n‡q 

c‡o| 

nZvk n‡q c‡o 

 
 [10 marks] 
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Conversion grid 

Number of ticks Mark 

28-30 10 

25-27 9 

22-24 8 

19-21 7 

16-18 6 

13-15 5 

10-12 4 

7-9 3 

4-6 2 

1-3 1 

0 0 
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Section C 
 
Multi-skill task  Question 6 
 
Assessment objectives 1, 2 and 3 
 
Level of response marking instructions 
 
Level of response mark schemes are broken down into levels, each of which has a 
descriptor. The descriptor for the level shows the average performance for the level. 
There are marks in each level. 
 
Before you apply the mark scheme to a student’s answer read through the answer and 
annotate it (as instructed) to show the qualities that are being looked for. You can then 
apply the mark scheme. 
 
Step 1 Determine a level 
 
Start at the lowest level of the mark scheme and use it as a ladder to see whether the 
answer meets the descriptor for that level. The descriptor for the level indicates the 
different qualities that might be seen in the student’s answer for that level. If it meets the 
lowest level then go to the next one and decide if it meets this level, and so on, until you 
have a match between the level descriptor and the answer. With practice and familiarity 
you will find that for better answers you will be able to quickly skip through the lower levels 
of the mark scheme. 
 
When assigning a level you should look at the overall quality of the answer and not look to 
pick holes in small and specific parts of the answer where the student has not performed 
quite as well as the rest. If the answer covers different aspects of different levels of the 
mark scheme you should use a best fit approach for defining the level and then use the 
variability of the response to help decide the mark within the level, ie if the response is 
predominantly level 3 with a small amount of level 4 material it would be placed in level 3 
but be awarded a mark near the top of the level because of the level 4 content. 
 
Step 2 Determine a mark 
 
Once you have assigned a level you need to decide on the mark. The descriptors on how 
to allocate marks can help with this. The exemplar materials used during standardisation 
will help. There will be an answer in the standardising materials which will correspond with 
each level of the mark scheme. This answer will have been awarded a mark by the Lead 
Examiner. You can compare the student’s answer with the example to determine if it is the 
same standard, better or worse than the example. You can then use this to allocate a 
mark for the answer based on the Lead Examiner’s mark on the example. 
 
You may well need to read back through the answer as you apply the mark scheme to 
clarify points and assure yourself that the level and the mark are appropriate. 
 
Indicative content in the mark scheme is provided as a guide for examiners. It is not 
intended to be exhaustive and you must credit other valid points. Students do not 
have to cover all of the points mentioned in the Indicative content to reach the 
highest level of the mark scheme. 
 
An answer which contains nothing of relevance to the question must be awarded no marks. 
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Assessment criteria 
 
Each assessment objective should be assessed independently. 
 
Students are advised to write approximately 200 words per essay.  Everything that students write 
must be assessed; there is no word limit.  Students writing the recommended length have access 
to the full range of marks. 
 
 
Assessment Objective 1 
 

Mark AO1 

9-10 

Very good evaluation of the source 
The relevant information from the spoken source material has been fully 
understood. Arguments/views are very effectively summarised and there 
is extensive evidence of drawing appropriate conclusions. 

7-8 

Good evaluation of the source  
Most of the relevant information in the spoken source material has been 
clearly understood. Arguments/views are effectively summarised and 
there is frequent evidence of drawing appropriate conclusions. 

5-6 

Reasonable evaluation of the source 
Some of the relevant information in the spoken source material has been 
understood. There is some evidence of summarising arguments/views 
and of drawing appropriate conclusions. 

3-4 

Limited evaluation of the source 
A limited amount of relevant information in the spoken source has been 
understood. There is limited evidence of summarising arguments/views 
and of drawing appropriate conclusions. 

1-2 

Very limited evaluation of the source 
A very limited amount of the relevant information in the spoken source 
has been understood. There is rarely evidence of summarising 
arguments/views and of drawing appropriate conclusions. 

0 The student produces nothing worthy of credit. 
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Assessment Objective 2 
 

Mark AO2 

9-10 

Very good evaluation of the source 
The relevant information from the written source material has been fully 
understood. Arguments/views are very effectively summarised and there 
is extensive evidence of drawing appropriate conclusions 

7-8 

Good evaluation of the source  
Most of the relevant information in the written source material has been 
clearly understood. Arguments/views are effectively summarised and 
there is frequent evidence of drawing appropriate conclusions. 

5-6 

Reasonable evaluation of the source  
Some of the relevant information in the written source material has been 
understood. There is some evidence of summarising arguments/views 
and of drawing appropriate conclusions. 

3-4 

Limited evaluation of the source  
A limited amount of relevant information in the written source has been 
understood. There is limited evidence of summarising arguments/views 
and of drawing appropriate conclusions. 

1-2 

Very limited evaluation of the source 
A very limited amount of the relevant information in the written source 
has been understood. There is rarely evidence of summarising 
arguments/views and of drawing appropriate conclusions. 

0 The student produces nothing worthy of credit. 
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Assessment Objective 3 
 

 
 
 
 
Minor errors are defined as those which do not affect communication. 
 
Serious errors are defined as those which adversely affect communication. 
 
Minor errors include: 
incorrect but close to correct spellings. 
 
Serious errors include: 
incorrect verb forms especially irregular forms incorrect use of pronouns. 
 
Complex language includes: 
use of pronouns of all types 
tenses that support conceptual complexity 
connectives supporting a range of subordinate clauses including those requiring subjunctive 
constructions with verbs and verbs followed by infinitive with correct preposition 
use of present and past participles. 
 
 

AO3 

9-10 

The language produced is mainly accurate with only occasional minor errors. The 
student shows a consistently secure grasp of grammar and is able to manipulate 
complex language accurately. The student uses a wide range of vocabulary appropriate 
to the context and the task. 

7-8 

The language produced is generally accurate, but there are some minor errors. The 
student shows a generally good grasp of grammar and is often able to manipulate 
complex language accurately. The student uses a good range of vocabulary appropriate 
to the context and the task. 

5-6 

The language produced is reasonably accurate, but there are a few serious errors. The 
student shows a reasonable grasp of grammar and is sometimes able to manipulate 
complex language accurately. The student uses a reasonable range of vocabulary 
appropriate to the context and the task. 

3-4 
The language produced contains many errors. The student shows some grasp of 
grammar and is occasionally able to manipulate complex language accurately. The 
student uses a limited range of vocabulary appropriate to the context and the task. 

1-2 
The language produced contains many errors of a basic nature. The student shows little 
grasp of grammar and is rarely able to manipulate complex language accurately. The 
student uses a very limited range of vocabulary appropriate to the context and the task. 

0 The student produces nothing worthy of credit. 
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Indicative content:  
 

• Information can be shared on social media very easily 
• Participation of all parts of society, young and old 
• Pictures can be shared via social media as a record 
• People in other cultures can share celebrations 
• People can feel part of the celebrations and culture through social media 
• Events can be enjoyed around the world thanks to the internet 
 
• Videos can be used to record traditional festivals and events for history 
• People who are not present can still enjoy events thanks to technology, eg Youtube 
• People who live in cities can share more rural traditions/celebrations 
• People can get notification of events and decide to attend as tourists 
• Technology is a way of recording and preserving traditions 
• Families can share events via social media 
• Technology inspires participation and community cohesion 
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